HS 67 Ch 6 HW   Due 10/25/09 
6.2. (a) The eight numbers in the table add up to 14,172, so there are approximately 14,172,000 students.
(b) Add the number of females and males in each age group. Then divide by the total number in the table to get this marginal distribution. Note: the traditional age group accounts for 71.6% of undergraduates.
	Age group 
	Number in group (thousands)
	Percent

	15 to 17 years 
	177
	177 / 14192 = .012 = 1.2%

	18 to 24 years 
	10161
	10161 / 14192 = .716 = 71.6%

	25 to 34 years 
	2143
	15.1%

	35 years or older 
	1691
	11.9%

	Total
	14192
	100.0%


6.4. State: How do the percents of females vary among age groups? Does age predict the percentage of women? Plan: Starting with the two-way table from Exercise 6.2. Then find and compare the conditional distributions of gender for each age group. Solve: The percents of females in each age group :

	Age group 
	Number of females (thousands)
	Number in group (thousands)
	Percent

	15 to 17 years 
	116
	177
	65.5%

	18 to 24 years 
	5470
	10161
	5470 / 10161 = .538 = 53.8%

	25 to 34 years 
	1319
	2143
	61.5%

	35 years or older 
	1075
	1691
	63.6%


This set of percents is sufficient for comparison, but students might also show the percents of men in each age group. Conclude: The data support our suspicion.  While women constitute a majority at all age levels, the smallest percent is for the traditional 18-to-24 age group.
6.7 (a) At Hospital A, survival in good condition patients = 594 / 600 = .990 = 99.0%
At Hospital B, survival in good condition patients = 592 / 600 = .987 = 98.7%

At Hospital A, survival in poor conditions patients = 1443 / 1500 = .962 = 96.2%

At Hospital B, survival in poor condition patients = 192 / 200 = .960 = 96.0%

Must show above calculations

Thus, Hospital A had superior survival for both good condition and poor condition patients.

(b) Single two-way table

 [image: image1.png]Hospital A Hospital B

Died 63 16
Survived 2037 784

Total 2100 800





Survival at Hospital A = 2037 / 2100 = .970 = 97.0%

Survival at Hospital B = 784 / 800 = .980 = 98.0%

Therefore, survival at Hospital A is superior

(c) The data in the two-way table is unreliable because of the lurking variable “condition of patients.” More than 70% of Hospital A’s patients arrive in poor condition, compared to 25% at Hospital B. Therefore, Hospital A’s survival rate appeared to be lower overall because these patients were in poored condition upon entry.
6.8 – 6.17 The answers are in the back of the book. Students should learn as much as they can from these “Check your skills” exercises.
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